

POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY RANK

Field of Post-M.D. Training	Residents							Fellows	Total
Field of Post-W.D. Training	PGY-2	PGY-3	PGY-4	PGY-5	PGY-6	PGY-7	Subtotal	Fellow	
Family Medicine	97						97		97
Emergency Medicine (CFPC)		10					10		10
Care of the Elderly (CFPC)		2					2		2
Enhanced Skills: Anesthesia (CFPC)		4					4		4
Enhanced Skills: Palliative Care (CFPC)		3					3		;
Enhanced Skills: Sports Medicine (CFPC)		1					1		•
Enhanced Skills: Other Fam. Med. Training		8					8		8
FAMILY MEDICINE SUBTOTAL	97	28					125		125
Anesthesiology			1	9			10	4	14
Public Health and Preventive Medicine				1			1		•
Dermatology				3	1		4		4
Diagnostic Radiology				4			4	2	(
Interventional Radiology								2	2
Emergency Medicine (Royal College)				6			6		(
Internal Medicine			6				6		(
Cardiology (Int.Med.)					2	1	3		;
Clinical Immunology and Allergy (Int.Med.)				2			2		2
Critical Care (Int.Med)					1		1		•
Endocrinology and Metabolism (Int.Med.)				1			1		•
Gastroenterology (Int.Med.)				2			2		2
General Internal Medicine				9	1		10		10
Geriatric Medicine (Int.Med.)				2			2		2
Hematology (Int.Med.)				2			2		2
Infectious Diseases (Int.Med.)				3			3		;
Medical Oncology (Int.Med.)				2			2	1	;
Nephrology (Int.Med.)				2			2	1	;
Respirology (Int.Med.)				1	1		2	1	;
Rheumatology (Int.Med.)				1			1		
Medical Genetics				1			1		
Neurology			1	3			4	1	
Neurology (Pediatrics)				2	1		3		;
Nuclear Medicine						1	1	1	2
Palliative Medicine						1	1		,
Pediatrics			9				9		9
Adolescent Medicine (Ped.)				1			1		
Clinical Immunology and Allergy (Ped.)				3			3		;



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY RANK

Field of Post-M.D. Training			I	Residents				Fellows	Total
Field of Fost-M.D. Training	PGY-2	PGY-3	PGY-4	PGY-5	PGY-6	PGY-7	Subtotal	Fellow	
Critical Care (Ped.)					1		1		1
Endocrinology and Metabolism (Ped.)				1			1		1
Pediatric Emergency Medicine (Ped.)				1	1		2		2
Hematology/Oncology (Ped.)					1	1	2		2
Neonatal-Perinatal Medicine (Ped.)								1	1
Rheumatology (Ped.)				2		1	3		3
Physical Medicine and Rehabilitation				1			1		1
Psychiatry			1	10			11		11
Child and Adolescent Psychiatry				1	3		4		4
Forensic Psychiatry					1		1		1
Geriatric Psychiatry					2		2		2
Radiation Oncology				1			1	2	3
MEDICAL SPECIALTIES SUBTOTAL			18	77	16	5	116	16	132
Anatomical Pathology			1	4			5		5
Hematological Pathology			2				2		2
Medical Microbiology				1			1		1
LAB MEDICINE SPECIALTIES SUBTOTAL			3	5			8		8
Cardiac Surgery					2		2		2
General Surgery			1	2			3	1	4
Colorectal Surgery						1	1		1
Critical Care (General Surgery)						1	1		1
Thoracic Surgery						1	1		1
Vascular Surgery				1			1		1
Obstetrics/Gynecology				5			5		5
Gynecologic.Rep.Endocrin./Infertility						1	1		1
Maternal-Fetal Medicine						2	2		2
Ophthalmology				2			2	1	3
Otolaryngology - Head and Neck Surgery				1			1		1
Orthopedic Surgery				4			4	1	5
Plastic Surgery								1	1
Urology				1			1		1
SURGICAL SPECIALTIES SUBTOTAL			1	16	2	6	25	4	29
Addiction Medicine (AFC)								5	5
Adult Interventional Cardiology (AFC)								1	1
AREAS OF FOCUSED COMPETENCE SUBTOTAL								6	6
Total	97	28	22	98	18	11	274	26	300



TABLE C-2 POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY GENDER

Field of Doot M.D. Training	Fen	nale	Ma	ale	Total	
Field of Post-M.D. Training	Count	Row %	Count	Row %	Count	Row %
Family Medicine	61	62.9%	36	37.1%	97	100.0%
Emergency Medicine (CFPC)	5	50.0%	5	50.0%	10	100.0%
Care of the Elderly (CFPC)	2	100.0%			2	100.0%
Enhanced Skills: Anesthesia (CFPC)	1	25.0%	3	75.0%	4	100.0%
Enhanced Skills: Palliative Care (CFPC)	3	100.0%			3	100.0%
Enhanced Skills: Sports Medicine (CFPC)			1	100.0%	1	100.0%
Enhanced Skills: Other Fam. Med. Training	3	37.5%	5	62.5%	8	100.0%
FAMILY MEDICINE SUBTOTAL	75	60.0%	50	40.0%	125	100.0%
Anesthesiology	5	35.7%	9	64.3%	14	100.0%
Public Health and Preventive Medicine			1	100.0%	1	100.0%
Dermatology	2	50.0%	2	50.0%	4	100.0%
Diagnostic Radiology			6	100.0%	6	100.0%
Interventional Radiology			2	100.0%	2	100.0%
Emergency Medicine (Royal College)	4	66.7%	2	33.3%	6	100.0%
Internal Medicine	2	33.3%	4	66.7%	6	100.0%
Cardiology (Int.Med.)	1	33.3%	2	66.7%	3	100.0%
Clinical Immunology and Allergy (Int.Med.)	1	50.0%	1	50.0%	2	100.0%
Critical Care (Int.Med)			1	100.0%	1	100.0%
Endocrinology and Metabolism (Int.Med.)	1	100.0%			1	100.0%
Gastroenterology (Int.Med.)			2	100.0%	2	100.0%
General Internal Medicine	4	40.0%	6	60.0%	10	100.0%
Geriatric Medicine (Int.Med.)	2	100.0%			2	100.0%
Hematology (Int.Med.)	1	50.0%	1	50.0%	2	100.0%
Infectious Diseases (Int.Med.)	1	33.3%	2	66.7%	3	100.0%
Medical Oncology (Int.Med.)	2	66.7%	1	33.3%	3	100.0%
Nephrology (Int.Med.)			3	100.0%	3	100.0%
Respirology (Int.Med.)	1	33.3%	2	66.7%	3	100.0%



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY GENDER

Field of Doct M.D. Training	Fen	nale	Ma	ale	То	tal
Field of Post-M.D. Training	Count	Row %	Count	Row %	Count	Row %
Rheumatology (Int.Med.)	1	100.0%			1	100.0%
Medical Genetics	1	100.0%			1	100.0%
Neurology	2	40.0%	3	60.0%	5	100.0%
Neurology (Pediatrics)	1	33.3%	2	66.7%	3	100.0%
Nuclear Medicine	1	50.0%	1	50.0%	2	100.0%
Palliative Medicine			1	100.0%	1	100.0%
Pediatrics	5	55.6%	4	44.4%	9	100.0%
Adolescent Medicine (Ped.)	1	100.0%			1	100.0%
Clinical Immunology and Allergy (Ped.)	3	100.0%			3	100.0%
Critical Care (Ped.)	1	100.0%			1	100.0%
Endocrinology and Metabolism (Ped.)	1	100.0%			1	100.0%
Pediatric Emergency Medicine (Ped.)	1	50.0%	1	50.0%	2	100.0%
Hematology/Oncology (Ped.)	2	100.0%			2	100.0%
Neonatal-Perinatal Medicine (Ped.)	1	100.0%			1	100.0%
Rheumatology (Ped.)	1	33.3%	2	66.7%	3	100.0%
Physical Medicine and Rehabilitation			1	100.0%	1	100.0%
Psychiatry	5	45.5%	6	54.5%	11	100.0%
Child and Adolescent Psychiatry	3	75.0%	1	25.0%	4	100.0%
Forensic Psychiatry	1	100.0%			1	100.0%
Geriatric Psychiatry	2	100.0%			2	100.0%
Radiation Oncology			3	100.0%	3	100.0%
MEDICAL SPECIALTIES SUBTOTAL	60	45.5%	72	54.5%	132	100.0%
Anatomical Pathology	1	20.0%	4	80.0%	5	100.0%
Hematological Pathology			2	100.0%	2	100.0%
Medical Microbiology	1	100.0%			1	100.0%
LAB MEDICINE SPECIALTIES SUBTOTAL	2	25.0%	6	75.0%	8	100.0%
Cardiac Surgery			2	100.0%	2	100.0%



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY GENDER

Field of Deat M.D. Training	Fen	nale	Ma	ale	То	tal
Field of Post-M.D. Training	Count	Row %	Count	Row %	Count	Row %
General Surgery	4	100.0%			4	100.0%
Colorectal Surgery			1	100.0%	1	100.0%
Critical Care (General Surgery)			1	100.0%	1	100.0%
Thoracic Surgery			1	100.0%	1	100.0%
Vascular Surgery			1	100.0%	1	100.0%
Obstetrics/Gynecology	4	80.0%	1	20.0%	5	100.0%
Gynecologic.Rep.Endocrin./Infertility	1	100.0%			1	100.0%
Maternal-Fetal Medicine	1	50.0%	1	50.0%	2	100.0%
Ophthalmology	1	33.3%	2	66.7%	3	100.0%
Otolaryngology - Head and Neck Surgery			1	100.0%	1	100.0%
Orthopedic Surgery	2	40.0%	3	60.0%	5	100.0%
Plastic Surgery	1	100.0%			1	100.0%
Urology			1	100.0%	1	100.0%
SURGICAL SPECIALTIES SUBTOTAL	14	48.3%	15	51.7%	29	100.0%
Addiction Medicine (AFC)	4	80.0%	1	20.0%	5	100.0%
Adult Interventional Cardiology (AFC)			1	100.0%	1	100.0%
AREAS OF FOCUSED COMPETENCE SUBTOTAL	4	66.7%	2	33.3%	6	100.0%
Total	155	51.7%	145	48.3%	300	100.0%



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING (NOV 1, 2020) OF NEW ENTRY AND RE-ENTRY GROUPS*

Field of Doot M.D. Tuoining	New I	Entry	Re-e	ntry	To	tal
Field of Post-M.D. Training	Count	Col %	Count	Col %	Count	Col %
Family Medicine	97	33.3%			97	32.3%
Emergency Medicine (CFPC)	9	3.1%	1	11.1%	10	3.3%
Care of the Elderly (CFPC)	2	0.7%			2	0.7%
Enhanced Skills: Anesthesia (CFPC)	3	1.0%	1	11.1%	4	1.3%
Enhanced Skills: Palliative Care (CFPC)	3	1.0%			3	1.0%
Enhanced Skills: Sports Medicine (CFPC)	1	0.3%			1	0.3%
Enhanced Skills: Other Fam. Med. Training	6	2.1%	2	22.2%	8	2.7%
FAMILY MEDICINE SUBTOTAL	121	41.6%	4	44.4%	125	41.7%
Anesthesiology	14	4.8%			14	4.7%
Public Health and Preventive Medicine	1	0.3%			1	0.3%
Dermatology	3	1.0%	1	11.1%	4	1.3%
Diagnostic Radiology	6	2.1%			6	2.0%
Interventional Radiology	2	0.7%			2	0.7%
Emergency Medicine (Royal College)	6	2.1%			6	2.0%
Internal Medicine	6	2.1%			6	2.0%
Cardiology (Int.Med.)	3	1.0%			3	1.0%
Clinical Immunology and Allergy (Int.Med.)	2	0.7%			2	0.7%
Critical Care (Int.Med)	1	0.3%			1	0.3%
Endocrinology and Metabolism (Int.Med.)	1	0.3%			1	0.3%
Gastroenterology (Int.Med.)	2	0.7%			2	0.7%
General Internal Medicine	10	3.4%			10	3.3%
Geriatric Medicine (Int.Med.)	2	0.7%			2	0.7%
Hematology (Int.Med.)	2	0.7%			2	0.7%
Infectious Diseases (Int.Med.)	3	1.0%			3	1.0%
Medical Oncology (Int.Med.)	2	0.7%	1	11.1%	3	1.0%
Nephrology (Int.Med.)	3	1.0%			3	1.0%
Respirology (Int.Med.)	3	1.0%			3	1.0%



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING (NOV 1, 2020) OF NEW ENTRY AND RE-ENTRY GROUPS*

Field of Dood M.D. Tuelning	New I	Entry	Re-e	ntry	To	tal
Field of Post-M.D. Training	Count	Col %	Count	Col %	Count	Col %
Rheumatology (Int.Med.)	1	0.3%			1	0.3%
Medical Genetics	1	0.3%			1	0.3%
Neurology	5	1.7%			5	1.7%
Neurology (Pediatrics)	3	1.0%			3	1.0%
Nuclear Medicine	2	0.7%			2	0.7%
Palliative Medicine	1	0.3%			1	0.3%
Pediatrics	9	3.1%			9	3.0%
Adolescent Medicine (Ped.)	1	0.3%			1	0.3%
Clinical Immunology and Allergy (Ped.)	3	1.0%			3	1.0%
Critical Care (Ped.)			1	11.1%	1	0.3%
Endocrinology and Metabolism (Ped.)	1	0.3%			1	0.3%
Pediatric Emergency Medicine (Ped.)	2	0.7%			2	0.7%
Hematology/Oncology (Ped.)	2	0.7%			2	0.7%
Neonatal-Perinatal Medicine (Ped.)	1	0.3%			1	0.3%
Rheumatology (Ped.)	2	0.7%	1	11.1%	3	1.0%
Physical Medicine and Rehabilitation	1	0.3%			1	0.3%
Psychiatry	11	3.8%			11	3.7%
Child and Adolescent Psychiatry	4	1.4%			4	1.3%
Forensic Psychiatry	1	0.3%			1	0.3%
Geriatric Psychiatry	2	0.7%			2	0.7%
Radiation Oncology	3	1.0%			3	1.0%
MEDICAL SPECIALTIES SUBTOTAL	128	44.0%	4	44.4%	132	44.0%
Anatomical Pathology	5	1.7%			5	1.7%
Hematological Pathology	2	0.7%			2	0.7%
Medical Microbiology	1	0.3%			1	0.3%
LAB MEDICINE SPECIALTIES SUBTOTAL	8	2.7%			8	2.7%
Cardiac Surgery	2	0.7%			2	0.7%



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING (NOV 1, 2020) OF NEW ENTRY AND RE-ENTRY GROUPS*

Field of Boot M.D. Turining	New	Entry	Re-e	ntry	То	tal
Field of Post-M.D. Training	Count	Col %	Count	Col %	Count	Col %
General Surgery	3	1.0%	1	11.1%	4	1.3%
Colorectal Surgery	1	0.3%			1	0.3%
Critical Care (General Surgery)	1	0.3%			1	0.3%
Thoracic Surgery	1	0.3%			1	0.3%
Vascular Surgery	1	0.3%			1	0.3%
Obstetrics/Gynecology	5	1.7%			5	1.7%
Gynecologic.Rep.Endocrin./Infertility	1	0.3%			1	0.3%
Maternal-Fetal Medicine	2	0.7%			2	0.7%
Ophthalmology	3	1.0%			3	1.0%
Otolaryngology - Head and Neck Surgery	1	0.3%			1	0.3%
Orthopedic Surgery	5	1.7%			5	1.7%
Plastic Surgery	1	0.3%			1	0.3%
Urology	1	0.3%			1	0.3%
SURGICAL SPECIALTIES SUBTOTAL	28	9.6%	1	11.1%	29	9.7%
Addiction Medicine (AFC)	5	1.7%			5	1.7%
Adult Interventional Cardiology (AFC)	1	0.3%			1	0.3%
AREAS OF FOCUSED COMPETENCE SUBTOTAL	6	2.1%			6	2.0%
Total	291	100.0%	9	100.0%	300	100.0%

^{*} New Entry - trainees assumed to be entering practice for the first time Re-entry - trainees assumed to be re-entering practice



TABLE C-4 POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

LOCATION OF RECEIPT OF THE M.D. DEGREE BY LEGAL STATUS

M.D. Country		Legal Status	
M.D. Country	CC/PR*	Visa	Total
Anguilla	1		1
Antigua	1		1
Australia	4	11	15
Austria		1	1
Bahrain	1	2	3
Bangladesh	1		1
Belgium		3	3
Bonaire		1	1
Brazil	2	2	4
Chile		1	1
China	3	2	5
Costa Rica		1	1
Curacao	1		1
Egypt	1	2	3
Finland		1	1
Germany		2	2
Grenada	1		1
Honduras		1	1
Hungary	1	1	2
India	5	6	11
Indonesia	1		1



TABLE C-4 POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

LOCATION OF RECEIPT OF THE M.D. DEGREE BY LEGAL STATUS

M.D. Country		Legal Status	
M.D. Country	CC/PR*	Visa	Total
Iran	8		8
Ireland	16	10	26
Italy		1	1
Japan		1	1
Kazakhstan	1		1
Kenya		1	1
Lebanon		2	2
Netherlands		1	1
New Zealand	2	5	7
Nigeria	2		2
Oman		3	3
Pakistan	6	1	7
Paraguay	1		1
Philippines	1		1
Poland	2	1	3
Russia		1	1
Saba	4		4
Saint Kitts and Nevis	1		1
Saint Vincent And The Grenadines	1		1
Saudi Arabia		4	4
Serbia and Montenegro	1		1



TABLE C-4 POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

LOCATION OF RECEIPT OF THE M.D. DEGREE BY LEGAL STATUS

M.D. Country		Legal Status	
M.D. Country	CC/PR*	Visa	Total
Singapore		2	2
Sint Maarten	1		1
South Africa	2	1	3
Spain		1	1
Sudan	2		2
Syrian Arab Republic	1		1
Turkey		1	1
Ukraine		1	1
United Kingdom	8	15	23
United States of America	3		3
Total	86	89	175

CC/PR: Canadian Citizens and Permanent Residents



TABLE C-4A POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

FIELD OF POST-M.D. TRAINING BY LEGAL STATUS

Field of Deat M.D. Training		Legal Status	
Field of Post-M.D. Training	CC/PR*	Visa	Total
Family Medicine	57		57
Emergency Medicine (CFPC)	2		2
Care of the Elderly (CFPC)	1		1
Enhanced Skills: Palliative Care (CFPC)	1		1
Enhanced Skills: Other Fam. Med. Training	1		1
FAMILY MEDICINE SUBTOTAL	62		62
Anesthesiology	2	4	6
Pain Medicine (Anes.)	1		1
Dermatology		1	1
Diagnostic Radiology	3	17	20
Interventional Radiology		1	1
Neuroradiology		2	2
Pediatric Radiology	1	3	4
Internal Medicine	2	2	4
Cardiology (Int.Med.)	1	1	2
Critical Care (Int.Med)	2	1	3
Endocrinology and Metabolism (Int.Med.)		1	1
Nephrology (Int.Med.)		1	1
Respirology (Int.Med.)		2	2
Medical Genetics		1	1
Neurology	1	3	4



TABLE C-4A POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

FIELD OF POST-M.D. TRAINING BY LEGAL STATUS

Field of Post M.D. Training		Legal Status				
Field of Post-M.D. Training	CC/PR*	Visa	Total			
Neurology (Pediatrics)	1	1	2			
Nuclear Medicine	1	1	2			
Critical Care (Ped.)		2	2			
Endocrinology and Metabolism (Ped.)	1	1	2			
Gastroenterology (Ped.)		1	1			
Pediatric Emergency Medicine (Ped.)		1	1			
Hematology/Oncology (Ped.)		1	1			
Neonatal-Perinatal Medicine (Ped.)	2	5	7			
Respirology (Ped.)		1	1			
Psychiatry	2		2			
Child and Adolescent Psychiatry	1		1			
Radiation Oncology		1	1			
MEDICAL SPECIALTIES SUBTOTAL	21	55	76			
Anatomical Pathology	1	1	2			
Hematological Pathology		1	1			
LAB MEDICINE SPECIALTIES SUBTOTAL	1	2	3			
Cardiac Surgery		2	2			
General Surgical Oncology	1		1			
Pediatric Surgery		1	1			
Neurosurgery		1	1			
Ophthalmology		8	8			



TABLE C-4A POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

FIELD OF POST-M.D. TRAINING BY LEGAL STATUS

Field of Post M.D. Training	Legal Status					
Field of Post-M.D. Training	CC/PR*	Visa	Total			
Otolaryngology - Head and Neck Surgery		4	4			
Orthopedic Surgery		6	6			
Plastic Surgery		1	1			
Urology		3	3			
SURGICAL SPECIALTIES SUBTOTAL	1	26	27			
Addiction Medicine (AFC)		1	1			
Adult Echocardiography (AFC)	1	1	2			
Adult Interventional Cardiology (AFC)		3	3			
Trauma General Surgery (AFC)		1	1			
AREAS OF FOCUSED COMPETENCE SUBTOTAL	1	6	7			
Total	86	89	175			

CC/PR: Canadian Citizens and Permanent Residents



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING

(CANADIAN CITIZENS AND PERMANENT RESIDENTS ONLY - VISA TRAINEES NOT INCLUDED) FIELD OF POST-M.D. TRAINING

BY RANK

Field of Post-M.D. Training	Residents		Fellows		Total	
	Count	Row %	Count	Row %	Count	Row %
Family Medicine	154	100.0%			154	100.0%
Emergency Medicine (CFPC)	12	100.0%			12	100.0%
Care of the Elderly (CFPC)	3	100.0%			3	100.0%
Enhanced Skills: Anesthesia (CFPC)	4	100.0%			4	100.0%
Enhanced Skills: Palliative Care (CFPC)	4	100.0%			4	100.0%
Enhanced Skills: Sports Medicine (CFPC)	1	100.0%			1	100.0%
Enhanced Skills: Other Fam. Med. Training	9	100.0%			9	100.0%
FAMILY MEDICINE SUBTOTAL	187	100.0%			187	100.0%
Anesthesiology	10	62.5%	6	37.5%	16	100.0%
Pain Medicine (Anes.)	1	100.0%			1	100.0%
Public Health and Preventive Medicine	1	100.0%			1	100.0%
Dermatology	4	100.0%			4	100.0%
Diagnostic Radiology	4	44.4%	5	55.6%	9	100.0%
Interventional Radiology			2	100.0%	2	100.0%
Pediatric Radiology			1	100.0%	1	100.0%
Emergency Medicine (Royal College)	6	100.0%			6	100.0%
Internal Medicine	7	87.5%	1	12.5%	8	100.0%
Cardiology (Int.Med.)	3	75.0%	1	25.0%	4	100.0%
Clinical Immunology and Allergy (Int.Med.)	2	100.0%			2	100.0%
Critical Care (Int.Med)	1	33.3%	2	66.7%	3	100.0%
Endocrinology and Metabolism (Int.Med.)	1	100.0%			1	100.0%
Gastroenterology (Int.Med.)	2	100.0%			2	100.0%
General Internal Medicine	10	100.0%			10	100.0%
Geriatric Medicine (Int.Med.)	2	100.0%			2	100.0%
Hematology (Int.Med.)	2	100.0%			2	100.0%
Infectious Diseases (Int.Med.)	3	100.0%			3	100.0%
Medical Oncology (Int.Med.)	2	66.7%	1	33.3%	3	100.0%



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING

(CANADIAN CITIZENS AND PERMANENT RESIDENTS ONLY - VISA TRAINEES NOT INCLUDED) FIELD OF POST-M.D. TRAINING

BY RANK

Field of Post-M.D. Training	Residents		Fellows		Total	
	Count	Row %	Count	Row %	Count	Row %
Nephrology (Int.Med.)	2	66.7%	1	33.3%	3	100.0%
Respirology (Int.Med.)	2	66.7%	1	33.3%	3	100.0%
Rheumatology (Int.Med.)	1	100.0%			1	100.0%
Medical Genetics	1	100.0%			1	100.0%
Neurology	4	66.7%	2	33.3%	6	100.0%
Neurology (Pediatrics)	4	100.0%			4	100.0%
Nuclear Medicine	2	66.7%	1	33.3%	3	100.0%
Palliative Medicine	1	100.0%			1	100.0%
Pediatrics	9	100.0%			9	100.0%
Adolescent Medicine (Ped.)	1	100.0%			1	100.0%
Clinical Immunology and Allergy (Ped.)	3	100.0%			3	100.0%
Critical Care (Ped.)	1	100.0%			1	100.0%
Endocrinology and Metabolism (Ped.)	1	50.0%	1	50.0%	2	100.0%
Pediatric Emergency Medicine (Ped.)	2	100.0%			2	100.0%
Hematology/Oncology (Ped.)	2	100.0%			2	100.0%
Neonatal-Perinatal Medicine (Ped.)			3	100.0%	3	100.0%
Rheumatology (Ped.)	3	100.0%			3	100.0%
Physical Medicine and Rehabilitation	1	100.0%			1	100.0%
Psychiatry	13	100.0%			13	100.0%
Child and Adolescent Psychiatry	5	100.0%			5	100.0%
Forensic Psychiatry	1	100.0%			1	100.0%
Geriatric Psychiatry	2	100.0%			2	100.0%
Radiation Oncology	1	33.3%	2	66.7%	3	100.0%
MEDICAL SPECIALTIES SUBTOTAL	123	80.4%	30	19.6%	153	100.0%
Anatomical Pathology	5	83.3%	1	16.7%	6	100.0%
Hematological Pathology	2	100.0%			2	100.0%
Medical Microbiology	1	100.0%			1	100.0%



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2021 AT THE COMPLETION OF POST-M.D. TRAINING

(CANADIAN CITIZENS AND PERMANENT RESIDENTS ONLY - VISA TRAINEES NOT INCLUDED) FIELD OF POST-M.D. TRAINING

BY RANK

Field of Post-M.D. Training	Residents		Fellows		Total	
	Count	Row %	Count	Row %	Count	Row %
LAB MEDICINE SPECIALTIES SUBTOTAL	8	88.9%	1	11.1%	9	100.0%
Cardiac Surgery	2	100.0%			2	100.0%
General Surgery	3	75.0%	1	25.0%	4	100.0%
Colorectal Surgery	1	100.0%			1	100.0%
Critical Care (General Surgery)	1	100.0%			1	100.0%
General Surgical Oncology	1	100.0%			1	100.0%
Thoracic Surgery	1	100.0%			1	100.0%
Vascular Surgery	1	100.0%			1	100.0%
Obstetrics/Gynecology	5	100.0%			5	100.0%
Gynecologic.Rep.Endocrin./Infertility	1	100.0%			1	100.0%
Maternal-Fetal Medicine	2	100.0%			2	100.0%
Ophthalmology	2	66.7%	1	33.3%	3	100.0%
Otolaryngology - Head and Neck Surgery	1	100.0%			1	100.0%
Orthopedic Surgery	4	80.0%	1	20.0%	5	100.0%
Plastic Surgery			1	100.0%	1	100.0%
Urology	1	100.0%			1	100.0%
SURGICAL SPECIALTIES SUBTOTAL	26	86.7%	4	13.3%	30	100.0%
Addiction Medicine (AFC)			5	100.0%	5	100.0%
Adult Echocardiography (AFC)			1	100.0%	1	100.0%
Adult Interventional Cardiology (AFC)			1	100.0%	1	100.0%
AREAS OF FOCUSED COMPETENCE SUBTOTAL			7	100.0%	7	100.0%
Total	344	89.1%	42	10.9%	386	100.0%